Questions of UPSC Mains 2025 GS 3 Paper

Q1. Distinguish between the Human Development Index (HDI) and the Inequality-adjusted
Human Development Index (IHDI) with special reference to India. Why is the IHDI considered

a better indicator of inclusive growth?‘ (Answer in 150 words)‘ 10

What are the challenges before the Indian economy when the world is moving away from
free trade and multilateralism to protectionism and bilateralism? How can these challenges be
met? (Answer in 150 words)| 10

Explain the factors influencing the deci
crops in India.\ (Answer in 150 words)‘ 10
Elaborate the scope and significan®
commodities in India.\ (Answegdin 150 wor
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efthrough clean techn®d@ by 2047? How can

biotechnology play 3 lroﬁﬁeﬁ W Ans “ n 15¢ _nﬂ 10
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CCUS in tackling ¢
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Q9 Terrorism is a global scourge_Liem manifested . in India? Elaborate with

contemporary examplg§. What are the counter measures aNgpted by the State?
Explain.| (Answer i

- The Govern ently s at Le m (LWE) will be
eliminated b at do you und¢ and how are the p¢ fected by it?

What measures have been taken by the government to eliminate LWE?‘ (Answer in 1 5@

words) 10

Explain how the Fiscal Health Index (FHI) can be used as a tool for assessing the fiscal

performance of states in India. In what way would it encourage the states to adopt prudent and

a. What are the causes
azard?‘ (Answer in 15 d

sustainable fiscal policies?\ (Answer in 250 words)\ 15
Discuss the rationale of the Production Linked Incentive (PLI) scheme. What are its

achievements? In what way can the functioning and outcomes of the scheme be

improved‘?\ (Answer in 250 words)\ 15
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Examine the factors responsible for depleting groundwater in India. What are the steps

taken by the government to mitigate such depletion of groundwater?\(Answer in250 words)\ 15
Examine the scope of the food processing industries in India. Elaborate the measures

taken by the government in the food processing industries for generating employment

opportunities.\ (Answer in 250 words)\ 15
How does nanotechnology offer significant advancements in the field of agriculture?

How can this technology help to uplift the socio-economic status of farmers? (Answer in 250

words) 15

India aims to become a semiconductor

by the semiconductor industry in In

nufacturing hub. What are the challenges faced

Mehtion the salient features of the India

Semiconductor Mission.\ (Answer in 250 WeliG
Mineral resources are fygdamental to

mining. Why is mining cghsiigs®d an environimental hazard@af D pin the remedial measures

@'eAnining. (AN 250 words) 15

Write a reviewo m’s climate commitments under them Adreement (2015) and
mention how these fa; (een further stren gl COP26 (202 1.‘ hig direction, how has
the first Nationally [} Iined Contribution illedded by India been§1 ed in 20227 (Answer]
15
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States? Map the var @\ ¥€age accordlAﬁiAgﬁ&dﬂmYnitiated‘

ountry’s econ@my and these are exploited by

required to reduce the gayfr@®Mmental haz

pvernment in the past

decade/ (Answer in 2 g sihl 5 -—w ’
Why is maritime S8 ‘ i@l to protec®hdia’s sea ld ss maritime and coastal
security challenges and the WeSEdsg rd.\ (Answer in 250 18 TS
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